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CAT DETECTIVE

1. Solve each multiplication problem. Example problems have been done for you.

2o Inthe example problems, the numbers 10 and 2 are called o number pair. We write (10, 2].

3 « Look af the graph on page 5. Graph the number pairs in the example. Start at 0.
Go across to the number 10 and up to the number 2. Plot the point.

4 Plot the point for each number pair. Then use o straightedge fo connect the points in the order you
plotted them. Can you solve the riddle?

X —p vy 4
2 x 5 = 10 2 x 1 = 2 (Example)
2 x 11 =__ 6 x 2 = :
5 x 2 =__ L B
2 x 3 =___ 2 x 1M =__
2 x 6 =___ R -
2 x 3 =__ 2 x 7 =__ =
2 x 1 =__ 8 x 2 |=_ .
T x 2 =__ 4. x -2 =
3 x 2 =__ B2~ i o
6 x 2 =5 2 x 4 =____
2 X 3 =_ T x 2 =__
5 % -2 =, 2 x 1 =_____

EXTRA CHALLENGE!

Thanks to his sharp eyes, the Cat Detective found a “fishy” note hidden under a flowerpot. It read:
The gold is hidden behind one of the fish tiles in the bathroom. The number on the fish is less than
9 x 2, and it is a multiple of 2. Behind which fish is the gold hidden?
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MULTIPLICATION X 2

Name IR HEH ALK

CAT DETECTIVE

What was the cat detective looking for?

To find out the answer, solve the problems on page 6. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at the
bottom of this page.)
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COYOTE BY MOONLIGHT

1+ Solve each multiplication problem. Example problems have been done for you.
2+ In the example problems, the numbers 20 and 10 are called a number pair. We write {20, 10).

3 « Look ot the graph on page 15. Graph the number pairs in the example. Start at 0.
Go across to the number 20 and up to the number 10. Plot the point.

4o Plot the point for each number pair. Then use a siraightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X — Yy 4
4 x 5 = 20 x 5 = 10 (Example)
5 x 4 = X & B o=
6 x 5 =___ X 6 =__
5 x 6 = 10 x b =
5 x 5 = 5 x 10 =
5 x 5 = 7 x 65 =__
4 x b = b X K=
5 x 4 = 11 x =
5 x 3 =__ 5. x M =__
3 x b =_____ g x = P
2 X b =_ b x 8 =___
5 x 2 = 5 x 10 =
1 x 5 = M0 x 5 =
B X 1. .= f %Xi .5 =
B x 3 = 6 x 5 =
3 x 5 =___ 2 x b =__
4 x 5 = 5 x 2 =

EXTRA CHALLENGE!?

Why did the cowboy get a job as a comedian? :
Shade the boxes that contain numbers that are multiples of 5. The letters in the unshaded boxes spell the
answer 1o the riddle. {Read from left to right.)

H 12 |E 7 R 15 W 11 1 0 25| A 16 S 18 A 6 L 26 i W 52
T 35 1A 14 X 17 S 131 H 19| 0 386 P 45 iR 37 S 461 48
N 4 (G 12 | A 23 T 10 i R 42 | O 41 uis 18 30 N 6 |B 863
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COYOTE BY MOONLIGHT

What has hands and gets into stick-ups with cowboys?

To find out the answer, solve the problems on page 16. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. {The answer is upside down at
the bottom of this page.)
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: MULTIPLICATION ¥ 5
Name ' ) 0000060004

OUTER §PACE

T+ Solve each multiplication problem. Example problems have been done for you.
D¢ Inthe example problems, the numbers 30 and 55 are called a number pair. We write {30, 55).

3 « Look o the graph on page 13. Graph the number pairs in the example. Start at 0.
Go across to the number 30 and up to the number 55. Plot the point.

4 Plot the point for each number pair, in order. Then use a straightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X —p | vy 4
6 x 5 = 30 1M x 5 = 55 (Example)
F X B =t > x :7 =_ ..
5 x 11 =__ 7 x B =_
9 X 8 =__ b x b5 =__
5 x 9 =__ 5 x 1 =__
5 X 6 =_ 5 x 4 =___
3 x 5 =__ 1 "X B = _ |
4 x 5 =___ 5 x 5 =__
5 x 1 =___ 3 X Tr=l | i
5 x 5 =__ 7 x 5 =__°+
5 x 6 =___ 1M1 x & =___

EXTRA CHALLENGE!

Arnold has a pocketful of nickels and dimes that equal one dollar. He has half as many dimes as nickels.
How many nickels does he have?
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N MULTIPLICATION X 5
ane ) 9090000000 @

OUTER §PACE |

What kind of fish likes to study outer space?

To find out the answer, solve the problems on page 14. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.)
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MULTIPLICATION ®3
Name I H I IHK

CUPID’§ VISIT

1 & Solve each multiplication problem. Example problems have been done for you.

Q.+ In the example problems, the numbers 18 and 3 are called a number pair. We write (18, 3).

3 o Look at the graph on page 7. Graph the number pairs in the example. Start at 0.
Go across fo the number 18 and up to the number 3. Plot the point.

Ao Plot the point for each number pair, in order Then use a straightedge o connect the points in the
order you plotted them. Can you solve the riddle?

X —b | y 4
3 x 6 = 18 T x 3 = 3 (Example)
3 x 7 =___ 3 x 2 =__
3 x 9 =____ 3 x 4 =__
3 x 11 =___ 6 x 3 = __
M x 3 =___ 9 x 3 =_
M0 x 3 =__ 3 x M =___
3 x 8 =___ 1M1 x 3 =__
3 x 6 =__ 9 x 3 =__
4 x 3 =___ M1 x 3 =___
3 X 2 =___ 3 x 1M =__
3 x 1 =____ g x 3 =_.._
ix 8 =_. . 6 x 3 =__
3 x 3 =____ 4 x 3 =__
Bo% 3 t=_ 2 x 3 =_____
3 x 6 =__ 3 x 1 =____

EXTRA CHALLENGE!

Silly Sam bought Gretchen a box of chocolates for Valentine’s Day. There was only one problem.
When Gretchen opened the box of candy she noticed that every third piece was missing. If there were
12 pieces of candy left in the box, how many did Silly Sam take out?

{Hint: It will help to draw a picture.)
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MULTIPLICATION X 3
Name 0606000000

CUPID’S VISIT

Why did Cupid visit the tailor ?

To find out the answer, solve the problems on page 8. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.}
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MULTIPLICATION X 4
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ALPHABET

T ¢ Solve each multiplication problem. Example problems have been done for you.
2+ In the example problems, the numbers 4 and 8 are called o number pair. We write (4, 8).

2 ¢ Look at the graph on page 11. Graph the number pairs in the example. Start at 0.
Go across to the number 4 and up to the number 8. Plot the point.

4L Plot the point for each number pair, in order. Then use a straightedge to connect the points in the order
you plotted them. After the word STOP, start a new line. Can you solve the riddle?

X —p v 4
1T x 4 = 4 2 x 4 = 8 (Example)
11T x 4 = 2 X 4 =
4 x 11 = 9 x 4 =
1 x 4 = 4 x 9 =
4 x 1 =__ 4 x 2 =__
4 x 2 = 4 x 3 =
3 x 4 = 4 x 4 =
4 x 4 = 4§ x 5 =
b x 4 = 6 X 4 = STOP
4 x 1 =_____ 9 x & =.__
4 x 6 =___ 4 x 5 =__
11T x 4 = 4 x 9 =_____ STOP
4 x 7 =____ 6 x 4 =___
4 x 8 = 8 X 4 =i b
9 x 4 = 4 x 4 =
10 x 4 = 4 x 3 =___
4 x 11 = 4 x 2 =__

EXTRA ¢HALLENGE!

What letter never gets put in an envelope? Solve the riddle by replacing the answers to the problems

with the alphabet code. CE-

4x5=__ [ | 4xd=__ [ ] 4x3=___[ 1 3x4=___ []
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ALPHABET

| start with an “e ” and have only one letter. Whatam I?

To find out the answer, solve the problems on page 12. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.)
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MULTIPLICATION X 4
Name IR

PET STORE

T+ Solve each multiplication problem. Example problems have been done for you.
2 4 In the example problems, the numbers 28 and 12 are called a number pair. We write (28, 12].

3« Look o the graph on page 9. Graph the number pairs in the example. Start at 0.
Go across to the number 28 and up to the number 12. Plot the point.

Ao Plot the point for each number pair, in order. Then use a siraightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X — y 4
4 x 7 = 28 4 x 3 = 12 (Example)
4 x 8 =__ 4 x 2 =____
8 x 5 =___ 2 x 4 =___
A X Spurn o e MR A e
4 x 10 =__ 4 x 4 =__
10 x di=_" & 5 X' 47 =
M x 4 =__ 4 x B = -
4 x 11 =___ 4 x 6 =____
9 peyad e o g B X My gl £
4 x 9 =__ 10 x 4 =_
8 x %4-="_" " ik A S — AN
7 x 4 =__ X 4 =__
8 x 4 =___ X 7 =___
4 x 7 =___ X 4 =
EXTRA CHALLENGE! SRS

if you counted the carrots on each of the cube’s ==

six faces, how many carrots would you count % %\\ %Q
inall? % %
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MULTIE PLICAT!”QN ?( 4
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PET STORE

What kind of animal did the bald man buy at the pet store?

To find out the answer, solve the problems on page 10. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.)
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FLYING BUTTER

Ts Solve each division problem. Example problems have been done for you.
e In the example problems, the numbers 3 and 1 are called a number pair. We write {3,1).

8o Look at the graph on page 35. Graph the number pair in the example. Start af 0.
Go across to the number 3 and up to the number 1. Plot the point.

4, Plot the point for each number pair, in order. Then use a straightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X — y 4
9 « 3 = 3 3 + 3 = 1 (Example)
12 + 3 =___ 3 + Jw=__
188 =+ 3 =__ g9 w8 =
28 =+ 3 =__ 3 + 3 =__
27 + 3 =__ 3 rx@i =" !
30 + 3 =__ 9 = Feat o
30 + 3 =__ 12 + 3 =_
27 + 3 =__ 19 5 Bowsiue -
30 + 3 =__ 8 + 3 =__
33 =+ 3 =_ 2] + 3 =____
33 = 3 =___ 33 + 3 =__
88 + 3 =_ 21 + 3 =_____
3 + 3 =__ 33 =+ 3 =0
3 + 3 =___ 27 + 3 =__7
6 = 3 =___ B = B0 o

EXTRA CHALLENGE!

Lasso Larry is rounding up three cows at a time to be branded. Put a ring around each group of three.
How many groups of cows will Lasso Larry take in ali?
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FLYING BUTTER

Why did the littie boy throw butter out the window?
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® $ @
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To find out the answer, solve the problems on page 36. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at

the bottom of this page.)
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BIRD OF PEACE

1. Solve each division problem. Example problems have been done for you.
2. Inthe example problems, the numbers 1 and 6 are called a number pair. We write (1, 6).

3o Look at the graph on page 39. Graph the number pair in the example. Start at 0.
Go across to the number 1 and up to the number 6. Plot the point.

4 Plot the point for each number pair, in order. Then use a straightedge fo connect the points in the order
you plotted them. Can you solve the riddle?

X — vy 4

4 = 4 = 1 24 + 4 = 6 (Example)
8 + 4 =_ 20 + 4 =_
8 £ 4 =___ 16 =+ 4 =__
16 + 4 = 8 + 4 =___
24 + 4 = 8 + 4 =__
28 + 4 = 12 + 4 —
32 + 4 = 8 + 4 =
4 + 4 = 8 + 4 =
4 + 4 =__ 12 + 4 =__
32 + 4 =_ 20 + 4 =___
40 =+ 4 = 28 + 4 =__
4 + 4 = 36 + 4 =
4 =+ 4 = 48 + 4 =
36 + 4 = 40 =+ 4 =
36 + 4 =__ 48 + 4 =__
16 + 4 =__ 28 + 4 =___
16 + 4 = 24+ 4 =___
12 + 4 = 28 .z b=
8 + 4 = 28 + 4 =__
4 + 4 = 24 + 4 =__

EXTRA CHALLENGE!

Mia's phone number is written in secret code. Help her friend Sasha figure out her real phone number by
dividing each numberby 4. .

Write your phone number using the secret code.
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'BIRD OF PEACE

What happened when the bird of peace dropped his olive branch?

To find out the answer, solve the problems on page 40. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddie. (The answer is upside down at
the bottom of this page.)
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RING! RING!

Ts Solve each division problem. Example problems have been done for you.
2 ¢ In the example problems, the numbers T and 4 are called a number pair. We write {1, 4).

3. Look at the graph on page 37. Graph the number pairs in the example. Start ot 0.
Go across to the number 1 and up fo the number 4. Plot the point.

4, Plot the point for each number pair, in order. Then use a straightedge fo connect the poinis in the order
you plotted them. After the word STOP, start a new line. Can you solve the riddle?

X — _ y ¢
4 =+ 4 = 1 16 =+ 4 = 4 (Example)
~ 4 = - 4 =
4 + 4 =__ s 4 =
2T N N S S— % =+ 4 =__
32 + 4 =____ 32 + 4 =___ _ STOP
36 + 4 =__ 28 + 4 =__
4 + 4 =___ 28 + 4 =___
44 + 4 = 32 b=
40 + 4 =__ 0 <+ 4 =___
S et 0 =+ 4 =
+ 4 =_ 32 = 4 =
4 + 4 =__ 28 =+ 4 =
12 + 4 =___ 28 + 4 =_____ STOP
16 + 4 =____ 32 + 4 =__
4 + 4 =__ 6 + 4 =__

EXTRA CHALLENGE!?

Tom's mom is a math professor, and she is always trying to get Tom to think about math. She covered
the numbers on the telephone with stickers and changed the numbers to multiples of four. For example,
she changed the 1 1o a 4, because 1 x 4 = 4. She changed the 2 to an 8, because 2 x 4 = 8 and so on.
When Tom called his best friend he dialed: © 8 36 26-128 24 0

What is Tom’s friend's real phone number?
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RING! RING!

| demand that you answer me fast, but I never ask questions. Whatam I?

To find out the answer, solve the problems on page 38. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.}
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TOUCHDOWN

T Solve each division problem. Example problems have been done for you.
e In the example problems, the numbers 6 and 2 are called a number pair. We write (6, 2).

8o Look at the graph on page 33. Graph the number pair in the example. Start at 0.
Go across to the number & and up fo the number 2. Plot the point.

4L+ Plot the point for each number pair, in order. Then use a straightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X — y ¢
12 =+ 2 = 6 4 + 2 = 2 { Example)
6 = 2 =__ 2 =5 2 =
16 + 2 =__ 4 + 2 =__
4 = 2 =__ 6 + 2 =__
4+ 2 =___ W = 2 =
22 + 2 =___ 8 + 2 =__
4 + 2 =__ % =+ 2 =___
4 + 2 =__ 8 + 2 =_
4 + 2 =____ 20 <+ 2 =_
12 + 2 =___ 22 = 42 =__ ..
10 + 2 =__ 20 <+ 2 =____
M0 + 2 =_____ 18 + 2 =__
0 + 2 =__ 16 = 2 =__
2 = 2 =_____ 8 =+ 2 =__
M0 + 2 =__ 0 e 2 =5 -

EXTRA CHALLENGE!

There are five boxes of cereal on the shelf in the store. One of the
boxes has a coupon in it for a free vacation. The clues (right) tell
about the number code on the winning box. Can you choose

the winning cereal box?

* Ihave three digifs.
* My first digit is 1.
< When you divide my second
digit by 2. gou get the answer 2.

The winning * When you divide my third digjit
cereal box by #. you get the answer 2.
is
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TOLICHDOWN

 like to make touchdowns, but | never wear shoulder pads. Whatam I?

To find out the answer, solve the problems on page 34. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.)
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KING JOHN

To Solve each division problem. Example problems have been done for you.
2. In the example problems, the numbers 6 and 1 are called a number pair. We write [6,1).

3o Look o the graph on page 41. Graph the number pair in the example. Start at 0.
Go across to the number 6 and up fo the number 1. Plot the point.

4, Plot the point for each number pair, in order. Then use g siraightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X — y 4

30 + 5 = @ 5 + 5 = 1 {(Example)
30 + 5 =_ 30 =+ 5 =
3% + 5 =__ R
40 + 5 =__ 30 + 5 =
45 + 5 =_ . 35 + 5 =
50 + 5 =_ 30 =+ 5 =
%5 + 5 =_ 35 =+ 5 =
30 + 5 =__ 55 : 5 =

5 + 5 = 3 =+ 5 =
10 + 5 =_ 30 + 5 =_
% + 5 = 35 + 5 =
20 + 5 =_ 30 =+ 5 =
25 + 5 =__ 3B + 5 =
30 + 5 =__ 30 + 5 =

EXTRA CHALLENGE!

Lady Rebecca’s diamonds were stolen. Beside her empty jewelry box was this notel

- Whatis full of spades that mevershovell - What is full of hearts that never love?

. What is full of clubs that never hitaballe oo What is fall of diamonds that are never worn?

Solve the riddie by replacing the answers to the problems with the alphabet code.

5x3= 5x1= 5x6= Exd= 5x2= 5x5= bx7=

Lady Rebecca’s diamonds are hidden in a
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KiNG JOHN

How did people know that King John would never give up his reign?

To find out the answer, solve the problems on page 42. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at the
bottom of this page.)
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HELPING HANDS$

T Solve each division problem. Example problems have been done for you.
2. In the example problems, the numbers 7 and 7 are called a number pair. We write {7 7).

3. look at the graph on page 43. Graph the number pair in the example. Start ot 0.
Go across to the number 7 and up 1o the number 7. Plot the point.

AL, Plot the point for each number pair, in order. Then use a straightedge to connect the points in the order
you plotted them. Can you solve the riddle?

X —» vy 4
35 «+ b = 7 35 + 5 = 7 (Example)
40 + 5 = 45 =+ 5 =
40 + b = B =+ §5 =
3 + 5 = 60 =+ 5 =
25 + 5 = 60 + 5 =
20 + 5 = 55 =+ 5 =
20 + 5 = 45 :+ 5 =
25 + 5 = 3 + b5 =__
0 =+ 5 = 10 + 5 =
26 + 5 = 30 + 5 =
% + 5 =__ 0 + 5 =__
30 =+ 5 = 30 + 5 =__
50 + 5 = | 6 = W5 =
3 + 5 = 30 :+ 5 =_
40 + 5 =__ 25 <+ 5 =__
60 -+ 5 = 20 = 5 =
40 + 5 =__ 30 + 5 =__
3 =+ 5 = 3% =+ 5 = '

EXTRA CHALLENGE!

Oscar the Octupus lost the combination for his
treasure chest. All that he has is this note to remind
him of the three numbers. Can you figure them out?

Write the three-number combination below:
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HELPING HANDS

What kind of sea creature would be a big help in the army?

To find out the answer, solve the problems on page 44. Then plot the number pairs and connect
the points. The picture you make will help you solve the riddle. (The answer is upside down at
the bottom of this page.)
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Name Date

Reducing Fractions
Rename each fraction to its lowest term.

The lowest term is the lowest possible denominator for a ,
, fraction. To find the lowest term, find a number that you can Here’s another
. . . place where
divide evenly into both the numerator and the denominator. Knowi
3 - nowing your
For %, 3 can be divided ] 3+(3)=1 basic facts really
evenly in both 3 and 6, s0 7 6= (3 5 helps!
is the lowest term for & - ( ) -
4 . 4 _ 4 . 4 _ B .. 5 _
1. 3% 7 12~ 4 = 15 © 5~
4 . 2 _ 2 . 2 _ 3 .38 _
2. T2 7 12~ 2 < 9 T3 -
3 & _ 4 . _ 3 . _
3. T2 = 16 = 15
9 . _ 4 . _ 8 . _
4. B3 = 20 = 24 =
Math Connection—Grade 3—RBP3799 Q.www.summerbric)geea.::tivi'cies.com ©
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Fall Patterns:

What comes next?

http://members.enchantedlearning.com/math/patterns/simple/fall.shtml?p
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Patterns: Nikmg
What comes next? "
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What comes next in the winter patterns: EnchantedLearning.com http://members.enchantedlearning.com/math/patterns/simple/winter....

Winter Patterns:
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What comes next in the patterns: EnchantedLearning.com

1ofl

Patterns:

What comes next?

http://members.enchantedlearning.com/math/patterns/simple/1.shtml?p
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What comes next in the patterns #2: EnchantedLearning.com http://members.enchantedlearning.com/math/patterns/simple/2.shtml?p

Patterns:
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What comes next? .
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What comes next in the patterns #4: EnchantedLearning.com http://members.enchantedlearning.com/math/patterns/simple/4.shtml?p

Patterns:
Whai comes next?
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< Solve and Draw
riiica INKing

Name

Solve the riddles.
Draw the coins.

A. There are 4 coins. They are B. There are 3 coins. They are
worth 16¢. What are the coins? ~worth 21¢. What are the coins?

C. There are 5 coins. They are D. There are 7 coins. They are
worth 47¢. What are the coins? worth 79¢. There are no dimes.
What are the coins?

E. There are 6 coins. They are F. There are 5 coins. They are
worth 40¢. What are the coins? worth 95¢. What are the coins?
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Problem solving

What's left?
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lame

Dollars Everywhere

Count the money.

dollars cents

.......

.......

dollars cents

Solve the problems.

5. Danielle bought one pencil
and a bear eraser. How much
did she spend?

¢

7. Jeffrey bought 2 erasers. He
spent ¢. He gave the
cashier 75¢. How much
change did he get?

i al0E

6. Cindy bought a necklace. Mary
bought a ring.

spent less.

She spent ¢ less.

8. Jim bought 2 pencils and an
eraser. He spent ¢. He
gave the cashier a half-dollar.
He got ¢ in change.
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